Assessing Invariance between two groups 

In this example, two groups will be assessed for invariance on a two factor scale with each factor comprised of four items.  
QUESTIONS

1) Assuming the unconstrained model is correct; did the measurement weights (factor loadings) achieve invariance?
2) Assuming the unconstrained model is correct; did the structural covariances (correlations among the factors) achieve invariance?

3) If non-invariance occurred, which parameter(s) was (were) significantly different?

4) What is the substantive conclusion of this study?
ANSWERS

1) Assuming the unconstrained model is correct; did the measurement weights (factor loadings) achieve invariance?

The measurement weights (factor loadings) achieved invariance, χ2 = (6, N = 750) = 3.40, p = .76.
2) Assuming the unconstrained model is correct; did the structural covariances (correlations among the factors) achieve invariance?

The structural covariances (correlations among the factors) achieve invariance, χ2 = (9, N = 750) = 5.86, p = .75.
3) If non-invariance occurred, which parameter(s) was (were) significantly different?

No parameters were significantly different between the two groups.
4) What is the substantive conclusion of this study?

There was no interpretational confounding between the groups.
